MATH-1860







Name ____________________________

Sample Exam 4

Spring 2003







S.I.D.# ___________________________

INSTRUCTIONS: You must show enough work to justify your answer on ALL problems.  Correct answers with no work (or inconsistent work) shown will not receive any credit.  The point value for each problem is given.  Give exact answers.  (No decimal approximations.)  You are permitted to use a non-graphing calculator.

1.
Determine whether the following integrals converge or diverge.  If the integral converges, then state its value.

a.
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Answer _______________


b.
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Answer _______________

2.
Determine whether the following sequences converge or diverge.  If the sequence converges, then state its limit.  (5 pts. each)


a.
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Answer _______________


b.
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Answer _______________

3.
Given the series 
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(6 pts.)


Answer _______________

4.
Determine whether the following series converge or diverge.  If the series converges, then state its sum.


a.
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Answer _______________


b.
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Answer _______________


c.
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Answer _______________

5.
Determine whether the following series converge or diverge and state the test used.  (8 pts. each except where indicated)


a.
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Answer _______________


b.
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Answer _______________


c.
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Answer _______________


d.
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Answer _______________


e.
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Answer _______________


f.

[image: image18.wmf]å

¥

=

+

-

1

2

9

)

1

(

n

n

n

n



Answer _______________

6.
Find an approximation to the series 
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  with four significant digits.  (5 pts.)


Answer _______________

_1081080786.unknown

_1081081950.unknown

_1081084073.unknown

_1081259960.unknown

_1081082493.unknown

_1081083367.unknown

_1081083908.unknown

_1081082957.unknown

_1081082187.unknown

_1081081010.unknown

_1081081515.unknown

_1081080818.unknown

_1081080565.unknown

_1081080743.unknown

_1081080769.unknown

_1081080684.unknown

_1081079588.unknown

_1081080052.unknown

_1081079104.unknown

